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-ing clauses

1 	When two things happen at the same time, you can use -ing for one of the verbs.
	I´ve just seen Carol. She is in the bar having a drink.
2 	We also use -ing when one action happens during another action.
	Did you cut yourself shaving?
3 	When one action happens before another action, we use having (done) for the first action.
	Having found a hotel, we looked for somewhere to have dinner.
4 	You can use an -ing clause to explain something or to say why somebody does something.
	Feeling tired, I went to bed early.
5 	We use -ing clause to say what somebody is doing at a particular time.
	Do you know the man talking to Tom?

1 	Rephrase the following sentences using a participial construction instead of a subordinate clause.
	a) 	When an undergraduate has completed his project, he takes the final state examination.
	b) 	After they had made the necessary preparations, they started the experiment.
	c) 	When the programmer has defined the problem to be solved, he must determine the method
	d) 	to be used.
	e) 	When he has determined the method to be used, he must organize the data structure.
	f) 	When Robert had passed his final state examination, he was awarded the degree of “Ing“.
	g)	 After they had bought an expensive car, they didn´t have much money left for everything else.
	h) 	When he has flowcharted the logic of a solution, he must code it in the programming language.
	i)		 After the lecturer had explained the problem, he described some of the methods of solving it.

2 	Answer the questions positively. Use the whole sentence with -ing construction.
	a) 	Did Mary laugh loudly as she came in?
	b) 	Did the soldiers sing loudly as they went through the streets?
	c) 	How did Tom cut off all those wires? Did he use a kitchen knife?
	d) 	When did the mountaineer slip? Did he climb the north wall?
	e) 	A lot of adults learn foreign languages. Do they attend evening classes?
	f)		A group is waiting in front of the castle. Are they Dutch visitors to Prague?
	g) 	Did you notice the two men? They were standing in the background.

3 	Rephrase the following sentences using an -ing form instead of a subordinate clause.
	a) 	When Barbara was typing the letters, she didn´t look at the keyboard.
	b) 	As she is used to typing for a long time, she never complains.
	c) 	When the secretary was bringing in the customer, she heard the telephone ringing.
	d) 	Since I believed that he had told the truth, I decided to let him go.
	e) 	When Mr Ralston was being introduced to the ladies, he tried to remember the names of all
	f) 	of them.
	g) 	While he was flying over the Channel, the pilot saw what he thought to be a flying saucer.
	h) 	Since the prices are really reasonable, they suit all buyers.
	i) 	When the clerk was working out the price, he included the packing charge in it.

4 	Translate into Czech.
	a) 	Going through Birmingham I met Mr Wheeler. I met him carrying a suitcase.
	b) 	Listening to the conversation Muriel enjoyed herself very much. Later on we even saw her speaking to that young man.
	c) 	The old lady was seen wearing all her jewels. Wearing them in the afternoon she made everybody notice her.
	d) 	Borrowing a deposit copy I noticed a student I had met before. I noticed him filling in a lending form.
	e) 	Reading the two texts and comparing them with the third the scientists deciphered the hieroglyphs on the Rosetta Stone.
	f) 	One can often find book-lovers reading early prints in the library of the British Museum.
	g) 	Mr Lewis watched his secretary typing the answers. He had her working hard.

-ing clauses : cause and effect
We can use -ing clauses to explain how something happens. The -ing clause explanation can be placed before, or after the main clause. We can also use -ing clauses to link a cause and effect.
Examples:
· Using MIDI, computers can communicate with synthesizers.
· DVD drives read DVD disks (by) using blue laser light.
· A WAV file may sample a song 44,000 times a second, creating a huge mass of information.

Match each cause and effect. Then link them with an -ing clause.
Cause
1	Computers with MIDI interface boards can be connected to MIDI instruments.
2 	Each side of a DVD can have two layers.
3 	MP3 removes sounds we can´t hear.
4 	You can download single tracks.
5 	Each MP3 file has a tag.
6 	MP3 players contain several devices.
7 	You can download a skin program.
8 	You can legally download some music.

Effect
A 	This permits extra information to be stored on the performer and other track details.
B 	You can create your own compilation.
C 	This allows you to sample a new group before buying their CD.
D 	This gives an enormous storage capacity.
E 	This allows the music being played to be stored by the computer and displayed on the monitor.
F 	This enables you to change the appearance of your player.
G 	These allow you to control the way the music sounds.
H 	This produces much smaller files.

-ing and -ed clauses
We use	-ing clauses to say what somebody or something is doing at a particular time.
Do you know the woman talking to Mary? (the woman who is talking to Mary)
		-ed clauses have a passive meaning:
Most of the goods made/produced in this factory are exported. (the goods that are made)

Reduced Relative Clauses
Relative clauses with a participle are often used in technical descriptions and definitions.
They allow you to provide a lot of information about a noun using as few words as possible.
	e.g.	 A network printer connected to a wireless print server = a network printer which is connected

A modem providing access to the Internet = a modem which provides access to the Internet
Academic Definitions
	e.g.	 A fossil is an inorganic trace buried by natural processes and subsequently permanently preserved.
Plastics are substances moulded into shape when they are heated.

Exercise 1
Make one sentence from two beginning as shown. Each time make an -ed clause.
	e.g.	 A boy was injured in an accident. He was taken to hospital.
The boy injured in the accident was taken to hospital.

1.	 A window was broken in the storm last night. It has now been repaired.
	The window…………………………………………………………….
2. 	A number of suggestions were made at the meeting. Most of them were not very practical.
	Most of the suggestions………………………………………………...
3. 	Some paintings were stolen from the museum. They haven’t been found yet.
	The……………………………………………………………………...

Exercise 2
Use the words in brackets to make sentences using there is/there was etc.
We often use -ing and -ed clauses after there is/there was.
	e.g.	 The accident wasn’t serious. (nobody/injure) There was nobody injured.

1.	 The bus was full. (a lot of people/travel)
	…………………………………………………………………………..
2. 	The piece of paper was blank. (nothing/write/on it)
	…………………………………………………………………………..
3. 	There are regular Czech courses at this faculty. (a course/begin/next week)
	…………………………………………………………………………..
4. 	They were the only guests at the hostel. (nobody else/stay there)
	…………………………………………………………………………..
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